Hundredths Place

tefths The second digit to the right of the decimal point is in
0.07 the hundredths place

1 | | 7
hundredths  The decimal 0.07 is equal to seven hundredths, or 160 .

The square has 100 equal parts.
What part of the square is shaded?
Write the answer as a decimal.

0.06
[ ] o
»
Convert each fraction to a decimal. »»
4 _ 9 _ 5 _ 8 _
100 ~ =04 100 ~ 009 100 ~ 005 00 - 008
1 _ 2 7 6
100 001 100 " 002 100 - 007 100 ~ 0.0
Convert each decimal to a fraction.
9 i 8 3
0.05=— 0.01=— 0.08=— 0.03=—
100 100 100 100
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